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Section 'A’, containing 9 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A" has to be solved first.
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Section - 'A'

frrifea aftraged ool @ SR U A1 & greal § T
Answer the following very short-answer-type questions in one or two
sentences. (1x9=9)

e log,x=3 &, @ x & A AT I |
If log, x = 3 then find the value of x.
12p, @1 7 S BT |

Find the value of ' P, .
gifrsar a7 9} G D g BT FAT Y9G gSdr &7

What is the effect of density on 'most probable velocity' of gases?
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M= 1,

= 2.
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What is the effect of temperature on viscosity of liquid?
AR faeas &1 gReifia Hiforg |

Define Isotonic solution.

iR gawie T 87

What is Miller indices?

g B gRaIfa #HIf |

Define 'Emulsion'.

fada @it & s & a7 Rerias @1 7 folRay |
Write the unit of velocity constant of second order reaction.
BITC ATUHH a7 87

What is Kraft temperature?
Section - 'B'
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Answer the following short-answer-type questions with word
limit 150-200 (2x5=10)
&l BT Solve (111), x(101), .

OR

d
& B Solve —-(2x" +x7+10).

AU e BT B foraa SHa W qargd |
Write Vander Waal's equation and give its limitations.
OR
aif "Ry g a7, a7 U9 wiidear 7 & da Hey il
BT |

U= 4,

H3H 5.
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OR
armeel iR smTes g @ WemERer R{dwr A |
Discuss ideal and non-ideal solution with example.
Tafee ga fea @ A d o7 farfag |

Write structure and propertics of Nemetic liquid crystal.
OR
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What do you understand by space lattice and unit cell? What is powder
method for structure deturmination in solids? Explain.

BEH AT IR UHhIoges AR P SITRT B WIS AHd |
fada @i @1 fbar & forg wamfera a wfawor a1 #iftg,
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Explain 'pseudo unimolecular reaction' with example. Derive integrated

rate equation for second order reaction, when initial concentration of both
the reactants are equal.

OR
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Derive integrated form of Arrhenius equation. How activation energy
can be calculated from this equation?
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Establish the relationship between Root mean square velocity, Average
velocity and Most probable velocity.
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What is the Van't Hoff factor? How is it related to degree of dissociation
and degree of association of solute?

OR
4g NaOH 1 200 el oo & e R faerga @ Arewar @n
grfT?
What is the molority of solution when 4g NaOH is dissolved in 200
mlof H,0.
ST FHIHROT o) FARY BT |

Derive Bragg's Law.
OR

RGBT Do B Rerar & fFgm w Gt feuely farfgy |

Write a short note on Law of constantcy of interfacial angles.
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Forareaction 4 — B, when the concentration of A is doubled, the

rate of reaction increases eight times, find out the order of
reaction.

OR
UisH SaIRd afaftharett @ amg o1 wHEa 27 W i |

What do you understand by enzyme catalyzed reactions? Explain it.

U3+ 3.
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Establish the relationship between Root mean square velocity, Average
velocity and Most probable velocity.
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What is the Van't Hoff factor? How is it related to degree of dissociation
and degree of association of solute?

OR
4g NaOH &1 200 el 5/t & fiam W fea & diewar @&
grf?
What is the molority of solution when 4g NaOH is dissolved in 200
ml of H,0.
ST FHIGRYT ) IRy PR |

Derive Bragg's Law.
OR

IR v & Rerar & fagq v it ol fiRag |

Werite a short note on Law of constantcy of interfacial angles.

Ffafbar A— BH A & wrsar g $va R afAfkar @ 4w
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Forareaction 4 — B, when the concentration of 4 is doubled, the

rate of reaction increases eight times, find out the order of
reaction.

OR
Urofrgd SoiRd afafameii & sy oar awEe 27 W i

What do you understand by enzyme catalyzed reactions? Explain it.
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Section - 'C'
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Answer the following long-answer-type questions with
word limit 300-350 (3x5=15)

YOG AR B WEIA ' DIford |
Solve with the help of log table

0.243x100x5.2
60x0.035

OR

y=x'—9x* —48x+52 Ward B Ifeers qen AT A s
BT |

Find maxima and minima of the equation y = x* —9x* —48x+52.
R &Y wER Hay & fofay |

Define collision number, collision frequency, collision diameter and mean
free path, write down the inter-relationship between them.

OR

U N BT AT AT T A9 HA: 10.2F 0.7 8 | FHDT I
w1 81, Ife gt wifdd a1 42.56 B1?

The reduced volume and temperature of a gas are 10.2 and 0.7. What
will be its pressure if its critical temperature is 42.56 atrm?

%9 % U8 A9 BT T DR 87 Y8 TG S P DY B b
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What is the reason for surface tension in liquids? Describe any one
method for determination of surface tension.

R 1.

W 2.
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Section - 'C'
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Answer the following long-answer-type questions with
word limit 300-350 (3x5=15)

STEFTOT ARV @ WETIAT W A Biford |
Solve with the help of log table

0.243x100x5.2
60x0.035

OR

y=x"—9x* —48x+52 He BT Sfeaw der s 7 T
I |

Find maxima and minima of the equation y = x* —9x* —48x +52.

e &1, Waeed Agiy, Waced & Ud "y qad o Pl
R R RER Hey @1 faRay |
Define collision number, collision frequency, collision diameter and mean

free path, write down the inter-relationship between them.
OR

T T B WA AT A9 HAEE 10,29 0.7 8 | 36BN <
18R, Ofe gt wifdd &1 42.56 €17

The reduced volume and temperature of a gas are 10.2 and 0.7. What
will be its pressure if its critical temperature is 42.56 atrm?

%q % Y TG BT 7T BRY 87 Y8 TG FId DA D Bl T
fafy &1 gl T |

What is the reason for surface tension in liquids? Describe any one
method for determination of surface tension.



